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UNIT SECTION 5: BRACKETS

15

DIRECT TEACHING POINTS

e Teach the use of brackets to show the order of operations in calculations.

P TTTTTTTTTTT T b
| Workout3+ (4 X 2) .
1 1
| 4x2)=8 Always work Qut the !
. brackets first, :
L 348=11,503+(4Xx2) =11 :
I I
P TTTTTTTT T b
| (@a-3)X2=14. Whatisa? 7 X2 =14 :
I I
! 10-3 =7, :
1 1
! soa =10 :
I I

e Exercise 1 provides essential practice. Exercise 2 and Star Challenge 2 are more
difficult.

e |n Star Challenge 1, discuss what is an appropriate method of

calculation = mental, written or calculator.
QOCABy,

bracket order of operations
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Brackets

//=o Using brackets

Work out 3 + (4 x 2)

(4x2)=86 first,

>

3+8=1,503+(4x2) =11

1T24+3X100 =..... 4 2x3)+10=..... ..

2 2+3)x10 =.... . 5 5bx4)—2 =......

32X@3+10) =.....

s

6 5X4-2) =....

; —~
Always work out /-
the brackets (gg

Work out the value of each expression in your head:

(0N

S
T2
TN

7 4+ (20 + 4)

8 (4+20)+4

9 (100 +50) X2 = ...

//=e Brackets and letters
(a-3)x2=14. Whatis a?

7 X2 =14,
10—3 =7,
soa = 10.

Work out the value of each letter.

1T 3X10)+b=35 4 e+1)+2=3

5 (fx3)—10=11

2 3X((10+c) =36

3 25+d)+3=38 6 gXxX (15—4) =55

0©°°

IDEA

76+h-=+3)=13
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Brackets

rENG
N . e

f R What's my sign?

9-10 correct 2 stars
Complete each sentence. 778 correct 1 star
Fill in each [ | with +, —, x or + to make a true number sentence:
1 423 L[| 3 = 1269
2 g58 || 6 = 143
3 143 [ 159 = 302
4 (240 L] 3 - 20 = 60
5 47 1 5 - 2 = 141
6 (141 LI 1 LI 10 = 130
7 (75 1 23 L] 18 = 70
g8 (17 LI s [l 10 = 75
s @ U 1y I 2 = 20
10 so00 L] 5 L[] s = 95
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